
Safety foot shells (pair, with pedal cranks)Safety foot shells (pair, with pedal cranks)Safety foot shells (pair, with pedal cranks)Safety foot shells (pair, with pedal cranks)

item no. 501item no. 501item no. 501item no. 501

fig. Description Piece Ident-N°/ Price
n° per Item n° [EURO/piece]

unit without VAT

a Foot shell with foam, left side 1
available in
RDS 260 30 30 - blue 100.000.993 97,00
similar to RAL 1035 bright - silver sand 100.000.995 97,00
RAL 9001 - offwhite 100.000.997 117,00
RAL 9006 – white aluminium (silver) (silver)  100.000.999 117,00
RDS 030 30 40 - red 100.001.001 117,00
RDS 180 30 15 - green 100.001.003 117,00
further colors according to RAL color scale 100.001.005 127,00

b Foot shell with foam, right side 1
available in
RDS 260 30 30 - blue 100.000.994 97,00
similar to RAL 1035 bright - silver sand 100.000.996 97,00
RAL 9001 - offwhite 100.000.998 117,00
RAL 9006 – white aluminium (silver) 100.001.000 117,00
RDS 030 30 40 - red 100.001.002 117,00
RDS 180 30 15 - green 100.001.004 117,00
further colors according to RAL color scale 100.001.006 127,00

c Foot shell with bearing bush, mounted, left side 1
available in
RDS 260 30 30 - blue 100.000.979 110,60
similar to RAL 1035 bright - silver sand 100.000.981 110,60
RAL 9001 - offwhite 100.000.983 130,60
RAL 9006 – white aluminium (silver) 100.000.985 130,60
RDS 030 30 40 - red 100.000.987 130,60
RDS 180 30 15 - green 100.000.989 130,60
further colors according to RAL color scale 100.000.991 140,60

d Foot shell with bearing bush, mounted, right side 1
available in
RDS 260 30 30 - blue 100.000.980 110,60
similar to RAL 1035 bright - silver sand 100.000.982 110,60
RAL 9001 - offwhite 100.000.984 130,60
RAL 9006 – white aluminium (silver) 100.000.986 130,60
RDS 030 30 40 - red 100.000.988 130,60
RDS 180 30 15 - green 100.000.990 130,60
further colors according to RAL color scale 100.000.992 140,60

e Pedal crank 2-stage, premounted 2 100.000.859 31,00
f Foot shell complete with bearing bush, pedal crank, left side 1

available in
RDS 260 30 30 - blue 100.000.523 127,00
similar to RAL 1035 bright - silver sand 100.000.967 127,00
RAL 9001 - offwhite 100.000.969 147,00
RAL 9006 – white aluminium (silver) 100.000.971 147,00
RDS 030 30 40 - red 100.000.973 147,00
RDS 180 30 15 - green 100.000.975 147,00
further colors according to RAL color scale 100.000.977 157,00

g Foot shell complete with bearing bush, pedal crank, right side 1
available in
RDS 260 30 30 - blue 100.000.524 127,00
similar to RAL 1035 bright - silver sand 100.000.968 127,00
RAL 9001 - offwhite 100.000.970 147,00
RAL 9006 – white aluminium (silver) 100.000.972 147,00
RDS 030 30 40 - red 100.000.974 147,00
RDS 180 30 15 - green 100.000.976 147,00
further colors according to RAL color scale 100.000.978 157,00

Spare parts price listSpare parts price listSpare parts price listSpare parts price list  effective February 2012 effective February 2012 effective February 2012 effective February 2012

 713.3/W 490a I GB -FB- 27.02.2012 fetT; folM
RECK reserves the right to technical changes according to the progress.

Reprint, also extracts require a written permission. Page 1 of 2



Safety foot shells (pair, with pedal cranks)Safety foot shells (pair, with pedal cranks)Safety foot shells (pair, with pedal cranks)Safety foot shells (pair, with pedal cranks)

item no. 501item no. 501item no. 501item no. 501

fig. Description Piece Ident-N°/ Price
n° per Item n° [EURO/piece]

unit without VAT

Spare parts price listSpare parts price listSpare parts price listSpare parts price list  effective February 2012 effective February 2012 effective February 2012 effective February 2012

*1 Velcro straps, elastic, with with flap, incl. hook tape 2 100.001.925 5,10
Fixation for the toe area

2 Foam, side section for adult foot shell viva 2 100.000.049 9,20
3 Foam, floor section for adult foot shell viva 2 100.000.050 7,10

**4 Velcro hook tape, self-adhesive 50x80mm, black 2 100.001.133 0,50
Fixation for the ankle-joint

5 Foot shell, left side 1
available in
RDS 260 30 30 - blue 100.001.007 78,60
similar to RAL 1035 bright - silver sand 100.001.009 78,60
RAL 9001 - offwhite 100.001.011 98,60
RAL 9006 – white aluminium (silver) 100.001.013 98,60
RDS 030 30 40 - red 100.001.015 98,60
RDS 180 30 15 - green 100.001.017 98,60
further colors according to RAL color scale 100.001.019 108,60

6 Foot shell, right side 1
available in
RDS 260 30 30 - blue 100.001.008 78,60
similar to RAL 1035 bright - silver sand 100.001.010 78,60
RAL 9001 - offwhite 100.001.012 98,60
RAL 9006 – white aluminium (silver) 100.001.014 98,60
RDS 030 30 40 - red 100.001.016 98,60
RDS 180 30 15 - green 100.001.018 98,60
further colors according to RAL color scale 100.001.020 108,60

**7 Velcro hook tape, self-adhesive 50x80mm, black 2 100.001.135 0,50
Fixation for the ankle-joint

**8 Velcro straps, elastic, 50x520mm, black 2 100.001.147 3,10
Fixation for the ankle-joint

9 Hexagon nut ISO 4035 - M5 - 8 - galvanized 6 100.001.114 0,10
10 Tooth lock washer DIN 6797 - A5,3 - galvanized 6 100.000.857 0,10
11 Countersunk head cap screw ISO 2009 - M5x25 - 4.8 - black galvanized 6 100.000.700 0,30
12 Bearing bush complete, with 3 countersunk head cap 

screws, 3 tooth lock washers and 3 hexagon nuts

2 100.000.053 24,00

13 Clamping cap SW 13, black 4 100.000.047 0,40
14 Hexagon nut ISO 4035 - M8 - 8 - galvanized 2 100.000.496 0,10
15 Locking washer (Schnorr) ø8, galvanized 2 100.000.290 0,10
16 Hexagon head bolt ISO 4017 - M8x32 - 8.8 - galvanized 2 100.000.701 0,30
17 Pedal crank , 2-stage 2 100.000.052 29,00

***18 Flat wrench SW15��������� 1 100.000.704 5,80

4+7+8
100.001.935 4,10

Fixation for the ankle-joint

* Standard on export devices (except for Switzerland) and in combination with item no. 506

** not to apply on self-operating foot holders (pair)" (item no. 506)

*** only applies on export devices 

set consists of: 1 hook tape 50x40mm + 1 hook tape 50x80mm

+ 1 Velcro strap 50x520mm 

 713.3/W 490a I GB -FB- 27.02.2012 fetT; folM
RECK reserves the right to technical changes according to the progress.

Reprint, also extracts require a written permission. Page 2 of 2




